
 ÿ12ÿ 

9.ñüôú¹ø 

ÿ³óøýüûüó¿¹ÿ 

 

÷ 

No. 
øÕ³üù ø Õ ] ù [ u |  � 

1 29202-31131 ³óøýüûüó¿¹ 1   

2 29202-31140 »ðü(ß) 1   

3 29202-31150 è{ùùû 1   

4 29202-41350 ¼´ù÷üüø 1   

5 20060-30161 �w_ Assy 1   

6 29202-31050 AC ½±óø 1   

7 29202-41030 U üûø 1   

8 29202-41170 ¶¹ü¿üðûö 1 G1/2 100V 

9 29202-41190 ½±óø 1 PT1/2 

10 20000-41850 ÿÞûü¹þºû 1 PF1/2 

11 00980-43920 ¹úó÷¹´óñ 2   

12 20030-46120 ´ð½óó÷ 2   

13 20208-48411 ³üùöó·õ 1   

14 20000-42520 þöüûø 1 M6×10 

15 20000-42380 ðý�}¿S_~Þúù_ý¸ 2 M5×10 

16 01200-00504 }Ûúóø 4 M5 

17 06600-015200 óûüûûü¹ 1 Ç15×19×2m 

18 06710-12000 ûü¹ðóù 3 Ç20 } 

19 00980-41540 ´ó·õýó¿¿´ 1 L100 

20 29202-41360 ×s®nþ 1  

21 20064-41270 �w_þÛÑwÿgÿ 1  

22 04100-42124 ÿúó° 1 P21 

23 20000-41780 ðý�}¿}Ûüûø 2 M6×12 

  

22 

1/3



 ÿ13ÿ 

ÿ»óµøÿ 

 

 

 

÷ 

No. 
øÕ³üù ø Õ ] ù [ u |  � 

1 29202-31100 »óµü²üð 1   

2 29202-41280 »óµ±ü¹ 1   

3 20307-31270 »óµüöù±óø(A) 1   

4 20307-41631 U � 1   

5 20048-42390 »óµüú 1   

6 20033-41600 þ´¿ý¹´óñ 1   

7 00930-40033 _�ðý 1   

8 20000-41780 ðý�}¿}Ûüûø 1 M6×12 

9 20000-41750 ðý�}¿}Ûüûø 1 M8×16 

10 01110-00316 S_~Þúù_ý¸ 2 M3×16 

11 01113-00308 S_~Þúù¿óôóý¸ 1 M3×8 

12 01200-00303 }Ûúóø 2 M3 

13 01200-00807 }Ûúóø 1 M8 

14 01250-00606 ÿÑÞúóø 1 M6 

15 01400-00307 ðý¶¼ý 2 M3 

16 01500-03015 rôó 1 Ç3×15 

17 00980-41111 »óµü³üù 1 L=950 

18 20041-41420 ³üùçÿþü¿ 1   

19 00980-41140 o�³üù(L) 1 L=1500 

20 20041-41410 »óµçÿþü¿ 1   

21 20033-41400 ³üù¿ùó÷ 2   

22 00980-41200 ÷ó·õþ¶óø¿´ 1 L=130 

23 13201-41278 ³üùðóù 3 L=250 

  

2/3



 ÿ14ÿ 

ÿÝÿ÷ÿ 

 

 

÷ 

No. 
øÕ³üù ø Õ ] ù [ u |  � 

1 00980-44290 ÿþ³üù 1 5m  

2 29202-41311 o�³üù(A) 1   

3 29202-41321 o�³üù(B) 1   

4 29202-41331 o�³üù(C) 1   

5 29202-41341 o�³üù(D) 1   

6 29202-31050 AC ½±óø 1 3 ó 

7 29202-41170 ¶¹ü¿üðûö 1 G1/2 100V 

8 00980-43920 ¹úó÷¹´óñ 1 ñ´ó¹´óñ 

9 00980-43920 ¹úó÷¹´óñ 1 »ó¹´¹´óñ 

10 20033-41600 þ´¿ý¹´óñ 1   

11 00980-41111 »óµü³üù 1 L=950 

12 00980-41140 o�³üù(L) 1 L=1500 

 

3/3


